£R5. /a0 DEFE (mg/ke dry)

IHL¥ A BT 7595yl =h  £94{pTyal—h  FAHUYDVRE  73953yval—h
Al 27 +04 54 = 0.1 1.1 * 00s 13 +02 182 + 07 ND.
Cd ND. N.D. ND. N.D. 11 £ 0.1 N.D.
Cr 08 = 00 06 = 0.1 N.D. 09 = 0.1 N.D. 1.1 + 004
Cu 63 =01 895 03 184 £ 0.3 153 =02 1038 £ 4.3 602 X 05
Fe 359 +04 517 =13 173 £ 02 235 = 0.1 763 22 236 *+ 04
Ge N.D. N.D. N.D. N.D. N.D. N.D.
Mn 104 =01 228 =05 6.7 0.1 6.1 =00 74 =02 12 =
Pb N.D. N.D. N.D. N.D. N.D. N.D.
s 2475 = 20 3005 =68 2116 £ 35 1749 = 63 3590 X 145 4045 X 24
Zn 838 + 06 751 186 708 £ 1.2 625 &= 0.1 834 £ 26 67.7 = 0.6
e PEVE 2 MEVE Pz YIILBT I/*H Kbl =4
Al N.D. N.D. N.D. N.D. N.D. N.D.
Cd N.D. N.D. 09 X041 N.D. N.D. N.D.
Cr 08 *= 00s N.D. N.D. N.D. N.D. 13 03
Cu 72 =03 54 =03 13.7 =03 254 =10 52 = 0.0, 868 =146
Fe 1006 £ 3.1 893 £ 14 21.1 =02 1844 X 47 747 £ 14 36.7 £ 06
Ge N.D. N.D. ND. N.D. N.D. N.D.
Mn 66 02 90 £01 10.1 £ 01 212 =06 72 x02 111 02
Pb N.D. N.D. N.D. N.D. N.D. N.D.
b 1622 =+ 56 2077 £ 25 3270 =15 2798 =+ 83 1714 = 47 4958 X 85
Zn 485 £ 14 703 07 1153 £ 10 692 £ 18 450 = 1.0 1217 += 22
7o INT BT NBT AT SELE BRAV DIt
Al ND. N.D. 203 *£13 137 %05 968 £ 30
Cd 1.3 =00, N.D. N.D. N.D. 02 %00,
Cr 10 =00, 14 =00, 08 =01 1.2 *+041 16 =01
Cu 407 =06 324 £07 111 =01 6.7 X 00; 146 =03
Fe 595 =04 571 =12 312 £ 02 1312 £ 05 1596 = 45
Ge N.D. N.D. N.D. N.D. N.D.
Mn 96 0.1 159 =03 13.5 = 0.0, 10.1 £ 0.0 127 =03
Pb N.D. N.D. N.D. N.D. N.D.
S 3672 = 65 3633 k= 92 2111 £ 13 4363 *x 28 2377 £ 54
n 765 =09 1126 *+ 27 406 =01 854 =03 703 =14
EEBER 05 me/ke

Data are expressed as the mean® S.D.(n=3).
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